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Corbd : 2% weudl | [ Qwrés wéluEuamser : 75
Time Allowed : 2%2 Hours | [Maximum Marks : 75
lejemy ¢ (1) Senaisg eflenTas(Enhd FTwunrs i&&l Lugleurdl e erergr ereLisenar

FilurTsgs derdrereyd. sigsiiugale @apulpldear siemms
gemsTasiuTeTiLLd o Larguwirs bgflalssen.

(2) Beob =g smUY eowblamer LLEHCD aipgasHEGL LLaUbBES
Ceuswt(HD. LILMISET auenyeusmE Glueandled Lweamhisse|n.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Black or Blue ink to write and pencil to draw diagrams.

@hlly : @euslarrggrer elpenml Yfleysmars daramL gl
Note : This gquestion paper contains three sections.
1Sfle- 1/ SECTION - 1
(wgluClueasrser : 15) / (Marks ; 15)
@Oy ¢ ()  @Quilbflele o arar 15 clamssEna@n el well&se]b. 15x1=15
(i) SoLuys ghllger der@éslul_@drer brom aflan sefld
Bseyb sflwrer eflen_anwd CsibOsHSS er(Wpoab.
Note : (i)  Answer all the 15 questions.
(i)  Choose the correct answer from the alternatives given in the brackets.
1. Qubemss Csie] Ganlum e GeuaudlLeur :
(srfeveu Lriadlar, ebly,Car-w-airflev, diflst Cored GWwar o, ge
LITLUIERL_E0 @OTLOITTE )
Theory of natural selection was proposed by :
(Charles Darwin, Hugo de Vries, Gregor Johann Mendel, Jean Baptise Lamarck)
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1816 sEenpilrear Caflurg snlsFma 2 (HeUTs@Enh SmLl :
(GerrevCGurgwib @Gsauba, WermrevCuorgwn whamwr, SarmenGidrigwih
umrédlurybd, MerrevCumywib enelcursen)

The most serious form of malaria is caused by :

(Plasmodium ovale, Plasmodium malariae, Plasmodium falciparum, Plasmodium vivax)

&mjm?iebr e dilens Urese eresriL(piLD.

<2, G Gaemfl, =il Gur Carfl, enanin Crm Canf), &Gasmfl)
A seed dispersed by wind is c,alled
{Autochory, flpemonhor\, Hy drochow Zoochorv)

5s GCaemeussns CgameanGear Gairsdr sTiig sTeursamsg 68l(pH Gleues
blgTenevetiey o aremen. Sidsmal Couraatlean GuissLD :

(eflert @Quigsib, Frirly ety Quéasb, Cadl ey Qusshd, B erfy Blu&sib)
The roots of coconut tree are seen away from the plant. Such kind of movement of root

for want of water is :
(Phototropism, Geotropism, Chemotropism, Hydrotropism)

QUITBSSLHN®S [H&HEE.

(sreurrimeT, Ceul_Hadlefl, seusmer, Ledl, LmbL)
Odd one out :

(Plants, Grasshopper, Frog, Tiger, Snake)

@&iw gefl pib eugller maerd afCu aumbCurg eiger Lras Cgfeuger
aryenrid epafludler

(@gﬁuaﬂuunm aﬂgmanrreo)

When sunlight passes through window of the classroom its path is visible. This is due

to of light.
(reflection, Scattermc)

2Ly s Sblwsdler eflalar o erargl. suilfler o arem flab
(r&né S, LITL.Tild oibleld)

Vinegar is present in acetic acid. Curd contains
(Lactic acid, Tartaric acid)

Belen eurdsen L elenamule o arer GlarLiseflar eramanfsams
(7, 17, 8, 18)

Number of periods in modern periodic table is

(2. 17,8, 18)

(ipgevTeneney FrenTill o CayTsmiser eramiiu(hib.
(5 rruShILD k&l@J@r@Tﬂ LOHMID SRIGD [ ST, E]g,a'fmm Hmd SR [ sy,
@g:ﬂi@’)ﬂ womn Gauerefl/ gmllyn, Ceusrst LomHmib ayﬂcﬁML)

are called coinage metals.
quppel, Silver and }JUld/kO}DPEI, Brass and gold/copper, Brass and silver/copper,
Silver and aluminium)



10.

11.

14.

’p\t.uu euminir(® CHy  isenen -f“'-a_j'n_(_gjl'r: Hh&as CH, malsge. B

{9 :ﬂr%j@.mdm’ Al rrgwurrm & auin Lim(y

(CH, / CoHy)

Formula of methane is CH4 and its succeeding member ethane is C}(pl'essed in CEHG'
The common difference of succession between them is @

[CHZ;’C?_I'-IE)

@ie Bleneilld 26T senorer GlLiTmarlear e s :
(85 s, Bla Goney, s, i)

The momentum of a massive object at rest is :

(Very large, Very small, Zero, Infinity)

20 gb War genljerer sbllufla 0.2 A WlanGenr L th 2 (Heaurss Gsemell(Hibd
Blaranipsds Gaipum

100V, 4V, 001V, 40V)

The potential difference required to pass a current of (.2 A in a wire of resistance
T 1 o T S

100V, 4V, 0.01 V, 40 V)

985 Hlubsenengate Uy wopn urliyseer el oidls GeuliLigeans
o U seaurdlmgl.

(Cleugirenin, Cerrllemylman, S(menis, DEREET)

" surface absorbs more heat than any other surface under identical conditions.
(White, Rough, Black, Yellow)

10 Ge.b. meSwgrrepdrer @elQeoardlalimbg 25 Cg.8. Cgmapaeildsr Gummer
eussLUESDE. GbLsdear Csmanaa
(50 Qlz.18. , 16.66 Qz.8., 6.66 Qz.5., 10 Gg..8)

An object is placed 25 cm from a convex lens whose focal length is 10 cm. The image
distance is :

(50 em, 16.66 cm, 6.66 cm, 10 cm)

LITTEEULIL|edLD QIJQFJLD SIETEUNS DELDEUS)
(Fwgar <3}, lq ufléb, @.g@ < la e, @ell opigulld, Carars ol uble)
The field of view 18 maximum for :

(Plane mirror, Concave mirror, Convex mirror, Spherical mirror)

5380

[ plus / Turn over



5380 4

1§ifley- 11 / SECTION - IT
(allCuamasr : 40) / (Marks : 40)

GolLy . gGaand Qrug elamssenss elenuehdseayb. 20x2=40
Note : Answer any twenty questions.
16. EpssarL sapmsar seuprs G mLibGear eflumen sbblamar GT(LDG5.

(<=1) emwris urrbufly sLSgIsa Wwaer Wwesrs Qeauafud L r.

(<) 7500 - 1000 aw(DsEnsE (weanam shsre CanrCur Qefwuenser

Cameutihlent.
Do you agree with the following statemnents. If not give the correct statement.

(a)  Lamarck worked out the first scientific experimental study on heredity.
(b)  About 7500 - 1000 years ago the modern Homo sapiens arose.

17. el L flaismamar iger @GeoplumlLre ghHL@b CoriisenLen AUT(HSEI5.

6meuL_L_15l T @sopur_(b Crmi
enall L 18em A T&e s
enall_L_Bler By BlaCLrGeurGuwir
anaul_L_tbleor D asired]

aneul_L Sleor C Glufl GQum

Match the following vitamins with its deficiency disease :

Vitamin 'Deficiency disease
Vitamin A Rickets
Vitamin B, Nyctalopia
Vitamin D Scurvy
Vitamin C Beri-Beri

18. SPSE@T_ UL GG euanrhel <5 pmib <-efleven @LwMLab.
Copy the diagram given below and write the names of A and B.
Be7~_.%
/)
3
| T

g ] ! . N
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21.
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SnsseanL aursdwiisamer Sole,

sHon (&) ALl A a0l prenflear @ pedler BLggiant aan
2anpssUUbBdEpg.

srramd (R): S prerdeer srudlsemer @ wp LM &rind
RPEEUDS5EDS.

£Cyp oLl Berar @M igé silwrer cllenLemw Camhels .

(1) (A) sfwrerg (R) sflwrs GurEBsefldame

(=) (A) sflureng (R) seupreng.

(8) (A) saum ermad (R) sl wmensg.

(/) (A) bpmibd (R) @ran(®Gw sflurang

Consider the following statements :

Assertion (A) : Pituitary gland is called as the conductor of endocrine orchestra.

Reason (R) :  Some of the endocrine glands are regulated by the pituitary gland.

Now select your answer according to the coding scheme given below :

(@)  (A) is correct and (R) is not giving correct reasoning.

(b) (A} is correct but (R) is wrong.

() (A) is wrong but (R} is correct.

(d) Both (A) and (R) are correct.

Gar@asuul Heter walls (weveruien LLD auenTHE a, b Unshisemer @l

(a) mEBTH0 e emBL LGS (b) wurTenel 2 T LiEd
Copy the diagram of human brain and label a and b.
(a) Seat of smell (b)  Seat of vision

/H":K—F‘?"‘ =

P
.

Qer@ssiul@erer Qpead dfeogullen Gm Urshisemas GHuG0Hs,
Draw the given diagram of paddy seed and label any two parts.

B
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e
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25,

23;

24.

Gargl. Qligens Byl s
(21) e et Bans Crimomiser &Tew’ | L(ED aﬂgor'&f@__

(Clevereured, wirener, s L], 67)65T)

(&) wrenenller sisfasr  Lddlar rgur@ed @b,
(G (B Lpaser, darflaEn Lhaer, e sLeuml Lipaer, Ger &L ard)
LI D& 6T)

Fill in the blanks.

{(a)  Sensitive whiskers are found in e A
(Bat, Elephant, Deer, Cat)

(b)] The tusks of clephants are modified A, S

(Incisor, Canine, Premolar, Molar)

Gemeumd @Il L cuspartani By,

sifley Baes & miiy | CeuafiCubmn sy [ slle) dumnmersen
Ean Ui red CleveflGuwmHmiufmib S -
Gamed silui remew [ -

Fill the tabular column -

Lungs Expired air |

5 5 g
[ Excretory organ | Sent out as J Excretory products 1

Skin Bient
|

WesmRobs Ul Herar Apsdresder fara @ Carpmsdan L QUENTH ]
ED&aar . LTskisaner GilEse, b,

(=1) Qu@eaewfl Qe (<) Slobr mreTlh

Draw the given diagram of .S of Kidney and label the following parts :

(a) medullary pyramid (b)  ureter



26.

28.

~1

$Gp Werfsslilgmé@h v dms saualss,

(=) LB A bpob B -0 startufn QussitisasT @hiid@s.

(=) cdiany  Geaslwussmadr Gsriime Slanmdl  Glenwsallan

- glussnsalldiipbg CeaumLifidemen.

Observe the diagram :

(a) Mention the type of movement shown in tigure A and B.’

(b) How does the movement differ from the movement of mimosa ? (T'ouch me not
plant)

2 Wil errevigsGadr sunflss LIWETL (BILD STeu hIseT WTenau?

Name the plants which are used in the production of bioplastic.

saupennF &l EET Iy S(HEEIs.

(=) @Quinms aurweNe Sreawr @b agenanwwiner dummer Wyl G e,

() afl, QULCrTdlwbd Guhms eury = luieme gy Gup Que)
GU G RIS ET.

Correct the statements :

(a) Butane is the chief component of natural gas.

(b)  Coal, Petroleum and Natural gas are renewable resources.

EpssaT_ cuTsSukismers seuead,

g (D ) (A) : Breuy erewtClenni wHmd elilevtigasef e e rplibladlmma,

2 W9l e GupLL@GADS).

sryend (R): Bla 2 WMl srymuib eratayn SienpssiLGdng.

&G EHUEL Gerer il igd sflurer elenl_mw Carplla(.

(=) (@A) wimb R) Qrem@id &

(=4) (A) #f wpemed (R) Foumrang).

(@) (A) 5 vomod ®) Qunobadng.

(r) (A) seum parmed (R) sfluimear Fnmm.

Consider the following statements :

Assertion (A) : Bio diesel is made from vegetable oil and animal fats.

Reason (R) : It 1s also called as bio ethanal.

Now select your answer according to the coding scheme given below :
(@) Both (A) and (R) are correct.

(b)  (A) is correct but (R) is wrong.
(c)  (A) is correct and (R) is relevant,
(d) (A) is wrong but (R) is correct.

I {cﬁ@l._l-'__l\% / Turn over
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29. WLUMBBSTS QevenD SamL HleLb.
(1) 2u9fl yevmanred, Lsms e, 2 ulfl Fai, Cul Crrellui.
() sreornm, el umiu®, Aerdldlreig, F5Cud.
Find out the odd one.

(a) Bio alcohol, green diesel, bio ether, petroleum.

(b) Cholera, typhoid, scabies, dysentery.

30. Qseilliqu sersed - UgelllLrs swrse Capubsss.

Distinguish between the saturated and unsaturated solution,

31. 20 & smwwe 2 U 50 &l Fild sarsdlmbsTe sEsamrsd Genleder sseis
Blanmenis sewrEsl ().

Find the concentration of solution in terms of weight percent if 20 gms of common salt
is dissolved in 50 gms of water.

32.. Gar@éstiul L ol aigmananl <Lrmilibg)

Gamgl L @) fisener Hlylus.

ULy iemiblenm eLPEVGFn D) Hlewm S| S5HL_(h) 16T
@Gemran 16 483 5

OB [EenT 14 - 2

Analyse the table and fill in the blanks.

Gas Atomic mass Molecular mass Atomicity
Ozone 16 48 =
Nitrogen 14 - 2

33. @by yerfew srdly soCul. saredlaier meausgbCurg smily soCul
grar Blph wrpdng. 2 e LSlasarar elaTsssmss ST6lb.

Why daesthe colour.of conper sulphate change when an iron nail is kept in it ? Justify
yOU.I' angwer.
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B (& Qsfns sl GIuW@dTaa'ﬂ@%ﬂ pH wally £Cp Wer@ssi U (Hemermdl.
I; Qlimgns pH gy

Q7S50 7.4

\s@wwled Garenm ;. 8.2

elleell GiT 2.5

() 2 uCurs b Ciomewim 12 J

Qar@ssliul L el Lamaraiu 2Tk Spesem sHlansaensE eslent-
S(H

(=) eB0shs QUTHETEET SiblssaT@n 2 @Lweaal ?

(<) eHOSHs QUTHETSET SMTEENENHLD 2 6L L6 ?

The pH values of certain familiar substances are oiven below :

Substance pH Value
Blood 7.4
Baking soda 8.2
|Vinegar 2.5
Household ammonia 12

Analyse the data in the table and answer the following questions :

(a) Which substances are acidic in nature ?

(b) Which substances are basic in nature ?

SpsaaL. cuTadlLrRisemeT seuaf.

Fa D) (A) : STULT LUTSSIThISeneT gnieowlLfH5seklima crafld) Lens
flp Ligod Caremmang)

sryard (R): @b& LignsSnsren sryaumd sy sy srruGer.

£Cp sil9 Geter @O ged sflurar aflan el Capds®.

(1) (A) womb (R) sflwrarmel Guogb srramd (R) &om (A) el m @&

QUT(HSSDTETE).

(=) () & yemray sTyeawd (R) sapml (A) &g CUTIHSSOTEIS Sfeve.

Consider the following statement : _

Assertion (8) : Greenish layer appears on the copper vessels if left uncleaned.

Reason (R) : It is due to the formation of layer of basic copper carbonate.

Choose the correct option

(a) Assertion (A) and Reason (R) are correct and relevent to each other.
(b)  Assertion (A) is true but Reason (R) is not relevant to the Assertion (A).

[ Slpliys / Turn over
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36. ogdlaflusden o Conss samealser WHMID LLeTEmard ).

Name the aluminum alloys and state their uses.

37. Glu T(HS 5.

Glumgt Gluwi eumur(y
B8 Ceen CHyCH,CH,CH,
reGaar CHyCH,CH,

L GrrGu e CHy
n-Gyy 1 GLar CH,CH,

Match the following :

Common Name ! Formula
Methane CH;CH,CH,;CH,
Ethane CH;CH,CH,
Propane CH,
n-Butane CH,CH;4

38. GarglL @ migenar BlyLiLs.
(31) eflans = Bleop x WPH&sL erafley e psb=__
(=) glrey eam rggen TréQsl g Laru®Eng eraflléd _ MRI LLib
Sy Seedled LiwienHélma).
Fill in1 the blanks.
(a) Force=Massx Acceleration then Momentum=_______ o

(b) Liquid hydrogen is for rocket then for MRL

39. @L@Es Amls dpenem ___ eillgib euwerells Sisiys Snaer
Gulilaib GHu9Eeug wry.
As a matter of convention the anti-clockwise moment is taken as and a

clockwise moment is taken as
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Tl A mimenar Sl
LTl sall_._._J-E-c._,aTl F.I-,,._.l.:\_'F_

(=) Wlenenwss Ceumiin® : Ceurédl 18 L1 ereiley WlemoeanmL T

(=) BT W Bleweowid : L eTi O eralld Gilu pmmed

Fill in the blanks.
(a) Potential difference : Voltmeter; then Currentis
(b) Hydro Power Plant : Conventional source of energy; then Solar energy

GBS,

SiHleflued Blenm &%&m@ﬁlu}uq

G ammer e Blersamb
SDITTED GOEFLDET LD sl L &EsD
GeumeoLm Sy am&E( Ty

Qanerd Custismre pLd oSl

Match the following :

Scientist Invention

Otto Hahn First battery
George Simon Ohm  |Radioactivity

Volta Nuclear fission

Henry Becquerel Ohm’s law

smoT sHisa Gupms sffluss sallwrisearmd Geseelluhib usgTan
&gt eiser@LD.

(=) Bupes sdfiuss saflbhse CeaualdiBo Ceaip s eisasem wramen?
(24) lam sHlTeisslen SjeTalbaTan e crenear ?

v rays are harmful radiations emitted by natural radioactive substances.

(a) Which are other radiations emitted by natural radioactive substances ?

(b) What is the unit of nuclear radiation ?

| SwliLs / Turn over
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43. Cummpers gemenm s () Hig&se]Lb.
(1) u@GsrerTd, silayg Camarid, WearGsramb, QetCsrenTd
(<) @elluTls, GlGevaimen, Fwger =k, Eelllwerne
Find out the odd one :

a Angle of incidence, angle of refraction, anele of emercence, richt anele.
l i L)

(b) Convex mirror, concave lens, plane mirror, convex lens.

4. Qaeme arsdusda ‘Sopsaipuler £mssalb,
(=1) srBgUL@b eren WL W HL QeTarTl @aray
(<) &Mbg dllenss Caraar ambss Gsempanamuid Gasridl e gpanenuden
(Pl LD
Correct the mistakes if any in the following statements.
(a) Magnetic field is a quantity that has magnitude only.

(b) The magnetic lines emerge from the south pole and merge at the north pole.

5. @ GYlteaslar galu g2 8. cafld Qoaflar Hpafer LAY srems.

The focal length of a concave lens is 2 m. Calculate the power of the lens.

Slfley - III / SECTION - III
(dliibluenraer : 26) / (Marks : 20)
@Oy = (@)  gablany ugdudiobab e dlar s Breg cllanTéaEnaE
eflen L6t $&6 0. 4x5=20

() qaublaurm ellemrelin@d mba WG LmSEET

(i) Ggenauwirar BlLmsafled LD euenTs,
Note : ()  Answer any four questions by choosing one question from each part.

(ii) Each question carries five marks.

(ii) Draw diagram wherever necessary.



46.

47.

48.

49,

(<31)

(=)

(@)
(b)

HIV

13

Lgdl -~ I / PART -1

2 19fl o ewrfl erammmed ereman ?
2 198 o awrflullen LweurGoear gCoab BrandlamaT o (Hais.
What is bio sensor ?

State any four applications of bio sensor.

-g3 s@mLflyd wHmL 2 NFALURESID ST WIMel? S6euDenD

S(H&EELD (PODSEET ST(DSIE.

What are the tests to identify and confirm HIV virus ? Give their preventions.

(<=1)
(<)
@
(a)
(b)

(©)

(<=t)

L@ - I / PART - 1I

safl 2 maun@h Hebéfuflemen ).

@ipfspéfufmer Hm&EsLTE aflelrl.

@nflspaamar GilEEL LLGamar auanfbg LTSRSE@Er GDl.
Name the process by which fruit is formed.

Give the development process in brief.

Draw a neat diagram of that process and label the parts.

Spaar. GUTmLsmer aanslUBSEIS
sl e, &TESD, Senmaviyd, LjmHser

2 sgapl i euaELUTL iy aTe elleTéEsE65S &(hs.
Classify the following substances :

Wood, Paper, Plastic and Grasses

Give detailed account on your classification.

5380
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50.

(<3h)

(=)

(b)

14

L@Edl - 1T / PART - III

eanL rmaiar Sgrnd saflop 148, gy sadlgaiear Elprid sgmiblany 16

s

umuQurmpersefar  siLeblou  HieTWseh AanalbEd
7 . r ' (e % = - AU ; y o)
weossmmsinEn ot glaaib wpeny Caumurhiseman ar(pss.

Calculate the gram molecular mass of water from the values of gram atomic
mass of hydrogen and oxygen.

Gram atomic mass of hiydrogen =1 gm
Gram atomic mass of oxygen=16 gm

Atoms and molecules are the building blocks of matter. List cut any three
differences between them.

sarm&sTl LsLUESSQsHE Lwusu@h (A) srap sflo Cemwgglen
epsamm amiur® CH,0, Q&Sernh asamayLen alenetyflbg
Geflw wampmLw Cerwb (B) -aw smEng:.

() Gerwwd (A) wpmd (B) -avw seapT(HLlly.

(i) @buperpuden QuwCrps par Goud swaUT_am ea(Rgis.
Aereumevamalpilen Qurg QuuiT womib TUPAC GlLwirsener er(psys.

i) CHyCH,COCH;,

(i) HCOOH

An organic compound (A) is widely used as a preservatives in pickles and has a
molecular formula C,H,0,. This compound reacts with ethanol to form a sweet
smelling compound (B).

(i) Identify the compound (A) and (B).

(i) Name the process and write the corresponding chemical equation.
Write the common name and [UPAC name for the following :

(i) CH,CH,COCH,

(i) HCOOH
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@&l - IV / PART - IV

(=) Benn, erenl. BaupPpe Qe Cu 2dar Gaunur® 5HS
=) @afiflusd Qarfld mU LGl LLGmaaneT er(Qd.

a] Tabulate the differences between mass and weight.

)

b]  What are the uses of cryogenic techniques ?
=) EpseaT_ LITGHRIGEET LIL 56 GDlEsa|D.
i) LEssT (i) eSlev@gsdlm
(i) BarsdHm (iv) Heos wrbns GHremid.
H

=) uTreal GaDUUTH @aniamen er(Lpgl.

(z2) Tabel the given parts in the following diagram.
(i) Incident ray (i) Refracted ray
(iii) Emergent ray (iv) Angle of deviation
=K

(b)  Write any one defect of vision.

L
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